FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
HALF CIRCLE TREE BENCH

, ) 77 a7 |l | VBl
Q /s Wiy
]

NN A S8/ )
£ 4
’ ‘ < 4 4 f W P %

g’ L L7 ¥




“uas sired ay) UO paxJeW SJaquinu 8y} 01 Ydrew 1ou op asay ] “AJuo aouaiajad Jo} aJe 3]qe] sexogd JO JUsIU0D) 8y Ul SIsquinu 1ded :810N

S sisasoeg A
M
Aep
sba Jesnua

14 _ _ 7 [eusd A

€ _ _ sba Ja18WiIad Z
Z SIeas |eAua) A
M

1 m SJeas JaleWliad Z
‘'ON Buimeaqg uondiiosag ‘RO

S3X04d 40 LNJLNOD

Pl 1

HALF CIRCLE TREE BENCH
www. ForeverRedwood.com



"2z1S uo Buipuadap Aren [[Im arempaey INoA Jo suoisuswiq 810N

m IO T o e,y

"(sBa] [e11ul2 3Y1 0] 1S8.X{2B( Y1 Yoene 0] )
siog ,.§ X ..9T/9

m T o o e e

"(sha)
[€J1U39 Y} 0] STesS [eJjuad 3yl yoene 0])
siog .. % S X ..9T/S

|

"(sBa] Ja18wiiad ayy
0] S1S3.139B( 31 Yyoene 0] / 'sjeas Jajawiiad
ay1 01 sbaj Jarewiiad ay1 yoene o)
siog .. % € X ..9T/S

‘ON

Buimeaqg

uondiiosag

1S1I13dvVMAUVH

P| 2

HALF CIRCLE TREE BENCH
www.ForeverRedwood.com



EEEEEEEEEEEEEEEEEEE

Sl ||| < |w
81 2|lw| 5| a
—qu’@w
|l | o | 4| @ | 5
ol = || = || @
= 2 | 5| & | 5|5
CIE|E|E 2|38
S|l =1 & | o| o
w!| ol O| @ O
Q| e o
-
©
c
o
oS
®
[72)
i}
=
'_
>

for ref

ers in the Drawing are reference on
match to th mbers marked on th t t

Note: Part numb

P|3




Step 1: Use 5/16™ x 3 %" bolts (A) to attach the perimeter legs (3) to the perimeter seats (1). Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

5/16 X 3 %" Bolts

Pl 4
HALF CIRCLE TREE BENCH
www. ForeverRedwood.com



Step 2: Attach the central seats (2) to the central legs (4) with 5/16"" x 5 %"" bolts (B). Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

5/16" X 5% Bolts

EREEE

P| 5

HALF CIRCLE TREE BENCH
www. ForeverRedwood.com



Step 3: Finally, attach the backrests (5) to the perimeter legs with 5/16°> x 3 '4’” bolts (A) and to the central legs with
5/16* x 5°” bolts (C). Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3% Bolts 5/16” X 5" Bolts

P| 6
HALF CIRCLE TREE BENCH
www. ForeverRedwood.com



This completes the Bench Assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

P|7
HALF CIRCLE TREE BENCH
www.ForeverRedwood.com



